0°0L6 0°06

I 115.0 | 130.0 T

245.0

910.0

115.0

100.0 |

115.0

90.0

200.0

30.0

110.0
170.0

30.0
|
|

170.0
910.0

30.0

110.0
170.0

30.0

200.0

DAKVERDIEPING

DONN
S1HO3IY 9NIMNOG3Id AANTTVANYY 1LI1Hv4avo
= |
i _b = = [Te) CL L
— 2 2 CUCCT
11111 ﬁA ° _ s folodolighsze p N I
S , ._ b/ %ﬁ% 3 i [CCCL
f_f_f_f_f_r N k..,m -+ |0||_| _Lo CCCCT
SN s 8L S I R
EEEEEE] AN - | | B RS
S i T & = 2 O]
<= N m s _J__u,,__u,,
ﬂIﬂo.oQ LN N 0'ogg . ) i
JJJMM_M e 0[] 2 T L TEER
J &l 7 0 3 Y5 2v| [ TFo'g9—t
N N @ @ T 0'os sleel L1
. = o - | CC
. e — S | CC
N o I — ) C ]
111 a |t he o CLCL]
N o i/ — [
] L& 7y CCLCL
,|_,|_,|_,|_,|_ m / \ m _J_J_J_l,_l,
] 1Y I
. - R
1 | e - L
R e ® j N B
- mr“\ ,wv" T 006 /1 L
ﬂﬂﬂﬂﬂr R A ofo B
- N = — ol ]
111 e U ege]]
T (= > Q Q@ &lrE0S
T | CC
T o CC
T & 8 CCC
EEEmEN] - iy § LD
e S CUCCL
o0st Il e, 0oce 0°sS¥ uWW_PJ S
EEEEEN] AN L
,|_,|_,|_,|_,|_ | LTTIRZTT J_|,_|,_|,_|/_|/
- o R
M 5 Tl
M 2 = I
N M M 2 - CLL L
TP TP NS SUSNSRN RN RNRNNNN

/
“SYNIT ONIMNOF3d JANTTVANYY LI1HvavD

DOL - 5cm




